
Perfecting motion





i



32

96

96 37128 128 96 128

29

192

64

64

Overhang

Minimum
Reveal

3 (1/8") Rise

Cabinet front

2 (1/16")
Setback

9 (3/8")

37(1-7/16")

IMPORTANT-Install #6
FH wood screw to attain
max. load capacity

System Screw Hole or #7
FH wood screw

#6 FH Wood Screw Hole

18.5 (3/4")
32 (1-1/4")

13.5 (1/2")



Cabinet Depth

Min. Top Clearance

Interior Depth

Cabinet Profile

Mounting Screws
612TH

(#6 x 1/2" Truss Head)

Bottom Clearance
4 (3/16")

Opening minus
20 (13/16")

Max. Drawer Height (1)

32 (1-1/4")

Setback
2 (1/16")

Socket Range
25 to 62

(1" to 2-7/16")

602300 RH
602301 LH

Rear Mount Sockets

16 (5/8")

Mounting Position
13.5  (1/2") (1)

Drawer Length

Extension Loss

Opening

Side
Clearance
12.5 (1/2")

Max. Drawer Height
Opening minus

Captive
Profile

32
(1-1/4")18.5

(3/4")

15 (9/16") Min.Top Clearance

Drawer Width = Interior Cabinet Width - 25 (1")

 Interior Cabinet Width

4 (3/16")
Bottom Clearance

Tolerance
Profile

(1)

(1)

Cabinet Profile Screws
606N (#6 x 5/8") or

System screws

Drawer Profile Screws
606N (#6 x 5/8") min.
3 per profile

19 (3/4")

9
(11/32")

32
(1-1/4")

50
(2")

Dotted
line
shows
front
frame

34.5
(1-3/8")

21
(7/8")

Mounting Screws
612TH (#6 x 1/2" Truss head) 

Min. (3) recommended

Drawer le
ngthDrawer width

Front

Position profiles
flush with front
of drawer box.

Attach through
sides or bottom

Cabinet Depth

Interior Depth

18 (3/4")

Setback
2 (1/16")

Install screw in flange*

32mm Increment

Mounting Position
37 (1-7/16")

Install at least one
center screw*

*To achieve maximum weight capacity



Cabinet front

2 (1/16")
Setback

9 (3/8")

37(1-7/16")

IMPORTANT-Install #6
FH wood screw to attain
max. load capacity

System Screw Hole or #7
FH wood screw

#6 FH Wood Screw Hole

18.5 (3/4")
32 (1-1/4")

13.5 (1/2")

37128128128 96128128

2
9



Cabinet Depth

Min. Top Clearance

Interior Depth

Cabinet Profile

Mounting Screws
612TH

(#6 x 1/2" Truss Head)

Bottom Clearance
6 (1/4")

Opening minus
22 (7/8")

Max. Drawer Height (1)

32 (1-1/4")

Setback
2 (1/16")

Socket Range
3 to 50

(1/8" to 1-15/16")

601962-VH21
(L&R set)
Rear Mount Socket

16 (5/8")

Mounting Position
13.5  (1/2") (1)

Drawer Length

Extension Loss

Opening

Side
Clearance
12.5 (1/2")

Max. Drawer Height
Opening minus

21 (13/16")

Captive
Profile

32
(1-1/4")18.5

(3/4")

15 (9/16") Min.Top Clearance

Drawer Width = Interior Cabinet Width - 2 5 (1")

 Interior Cabinet Width

6 (1/4")
Bottom Clearance

Tolerance
Profile

(1)

(1)

Cabinet Profile Screws
606N (#6 x 5/8") or

System screws

Drawer Profile Screws
606N (#6 x 5/8") min.
3 per profile

7
(9/32")

38
(1-1/2")

53
(2-1/8")

Dotted
line
shows
front
frame

33.5
(1-11/32")

21
(7/8")

Mounting Screws
612TH (#6 x 1/2" Truss Head)

Min. (3) recommended

Drawer le
ngthDrawer width

Front

Position profiles
flush with front
of drawer box.

Attach through
sides or bottom

Cabinet Depth

Interior Depth

Setback
2 (1/16")

Install screw in flange*

32mm Increment

Mounting Position
37 (1-7/16")

Install at least one
center screw*

18 (3/4")

*To achieve maximum weight capacity



Cabinet front

9 (3/8")

32 (1-1/4") 37 (1-7/16")

Height
Adjustment
Slot

# 6 FH Wood
Screw Hole

4 (5/32")
Setback

System Screw Hole or #7
FH wood screw

4
9

37128128128 96128128

96

64

32 192

96



Opening

Side
Clearance
12.5 (1/2")

Max. Drawer Height
Opening minus

9 (3/8")

Captive
Profile

(1-15/16")

3 (1/8") Min.Top Clearance

Captive
Profile

Drawer Width = Interior Cabinet Width - 2 5 (1")

 Interior Cabinet Width

6 (1/4")
Bottom Clearance

50 Min.

Cabinet Depth

Interior Depth

Cabinet Profile

6 (1/4") Bottom Clearance

Opening minus 9 (3/8")
Max. Drawer Height

Setback
4 (1/8")

Mounting Position
37 (1-7/16")

50 (1-15/16") Min.

3 (1/8") Min. Top Clearance

Drawer Length

30 (1-3/16") Over Extension

Drawer le
ngthDrawer width

Front

Position profiles
flush with front
of drawer box.

Attach through
sides or bottom

See page 10 for 
profile installation 



Unlock

Lock

LOCK



4

8

8 19 (3/4")

32
(1

-1
/4

")

Dia. Thk.

a



18

10.5 Ø20

10 Ø20



Mounting Screw
M4 x 1/4"

30
(1-3/16")

612TH Screws
 (#6 x 1/2" Truss Head)

16 (5/8")

295.4000
Universal Drawer Bracket

Mounting Screw
M4 x 1/4"

62
(2-1/2")

612TH Screws
 (#6 x 1/2" Truss Head)

18 (3/4")

295.4000
Universal Drawer Bracket

48 (1
-7/8”)

62
(2

-7
/1

6
”)

30
(1

-3
/1

6
”)

16 (5/8”)

68 (2-11/16”)

1.
5 

(1
/1

6”
)

68
 (

2
-1

1
/1

6
”)

64 (2
-9/16”)

M4
tapped

holes








